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The flower grew % inch during the week

Rubric

1 point for equation; 1 point for solving
the equation; 1 point for stating how
much the flower grew

. Define n to be the other number in
the sum_

Rubric
1 point for answer; 1 point for equation;
1 point for reasonable work

m=6
Kirk made 6 batches of muffins
Define p to be the price per batch
of muffins.
6p=108
6p _108
B 6
p=18
Kirk earned $18.00 per batch
Rubric
a. 1 point for unit conversion; 1 point for
equation; 1 point for answer; 1 point
for showing work
b. 1 point for equation; 1 point for
answer; 1 point for showing work

o
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10. Lauren added % to both sides instead of

subtracting % from both sides.

Rubric
2 points for explanation of mistake;
1 point for correct answer; 1 point for
reasonable work
11.a. 7s=315
b. Adam saves $45 each week
7s=315
Is _315
77
s=45
Adam needs to save
$450 - $315 = $135 more to buy the
computer. Let w be the additional
number of weeks Adam must save.
45w =135

o
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4ow _135
45 ~ 45
w=3
Adam must save for 3 more weeks to
buy the computer.
Rubric
a. 1 point

b. 1 point for answer; 1 point for
reasonable work

c. 1 point for answer; 1 point for
equation; 1 point for reasonable work
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6.EE.7

SELECTED RESPONSE 4. There are 6 biue shirts and g green
Select the correct answer. shirts in a drawer. There are 11 shirts.

1. Which of these equations has the same
solution as the equation x + 5 = 122

@®x+5=7
® x+8=15
©x+7=12
@ x+12=20

2. Thomas put 41 of the ¢ coins he had in

his pocket into the jar under his bed. He
put 16 coins into the jar. The equation

that mogels this stuaton s 0= 16

How many coins did Thomas have in
his pocket?

@ 4 coins

® 12 coins
© 20 coins.
(@ 64 coins.

3. Whatis the procedure for solving the
1
equation x=167

@& Add % to both sides of the equation.

(® Subtract % from bot sides of the
equation.

total in the drawer. What equation
models this situation?

@A 6+g=11
®6g=11
©6-g=11

1
® go=11

CONSTRUCTED RESPONSE

5. Whatis the solution of the equation
3+ x=97 Show your work.

6. Sally measured the height of a flower
growing in her garden. The flower was

341 inches tall. Over the next week, the
Tlower grew h inches and measured
4% inches tall. Write an equation that

models the situation. Then solve the
equation and state how much the flower
grew during the week.
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@ Multiply both sides of the equation

by2
@ Multiply both sides of the equation 7. The sum of 6 and another number is 23.
by L Write and solve an equation to find the
2 other number. Show your work.
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10. Lauren incorrectly solves the equation

8. Chois driving a car. He gets to his
destination, which is 72 miles away, 4. 4= Herworkis shown below.
in 1 hour and 30 minutes. 57575
Explain Lauren's mistake and find the
a. The equation d - rt can be used to
model Cho's drive, where d'is the correct solufion. Show your work
distance traveled, is the speed of
the car, and tis the amount of time
Spent traveling. Substitute Cho's tme
and distance into the equation.

b. Solve the equation in part a to find
Cho's speed. Show your work.

9. Kirk owns a bakery and is making

muffins. Each batch of muffins uses
1. Adam s saving money to buy a

% cup of milk. He has 1 gallon of milk computer. He saves s dollars each week
After 7 weeks, he has $315 saved.

f a. Write an equation that models

a. IfKirk uses  gallon of mik in total, the situation

touse.

how many batches of muffins did he
make? Wiite and solve an equation b How much does Adam save each

o find the answer. Show your work. e a0

(Hint: There are 16 cups in 1 gallon.) yourwor
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b. Kirk eamed $108 from selling the
muffins. How much money did he
eam per batch? Write and solve an
equation to find how much money
Kirk earned per batch.

. The computer Adam wants to buy is
$450. How many more weeks does
he have to save o buy the
computer? Write an equation to
model this situation and solve. Show
your work
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6.EE.7 Answers

1
2
3
4
5

=3

>00®

3+x=9
3-3+x=9-3
x=6
Rubric
1 point for answer; 1 point for
reasonable work
The equation 3%”.:4% models

the situation.

1 1
32in=al
27"="%
1333
13,3
7=
B3, BB
R
3 2%
pB_ %
5 8
7
n=I
B

8.a 15r=72

b. 48 miles per hour
15r=72

15r_72
515
r=48
Rubric
a. 1 point

b. 1 point for answer; 1 pojnt for
reasonable work

9.a. First, convert % gallon to cups

1 (16 cups.

1
7 gallon 1gauan)’2“6) cups=4 cups

Define m to be the number of batches
of muffins Kirk made

Zm=4




